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1. 425K
MEE. T—1 HE4A4 4% (C04. ZJYE) + T HZ 31441 (CO5
+ C10 + C12 + C14 + C16) = T H %4 4% (C04. ZIYE )

Bk

F OB ¥ m W . (D@ @®BLB = '01" OR
03" )SUM(CO5. FSJE)

F OB OB O m . (D@ ®BLB = '02" OR

"04' )SUM(CO5. FSJE)

FRAXZE M (TEE., ALK, BEX T oA
ZH): (1) (WILX = '00' AND MMLB = '0S')SUM(C16. CJJE -
C16.JYYJ — C16.YHS — C16.GHF — C16.QTFY) + (T) (WTLX
= '02')SUM (C16.CJJE - C16.JYYJ - C16. YHS — C16.GHF -
C16.QTFY) + (T) (WTLX = '03')SUM(C16.CJJE - C16.JYYJ
- Cl6.YHS - Cl16.GHF - CI16.QTFY) +(T) (WILX =
'04')SUM(C16. CJJE - C16.JYYJ - C16.YHS - C16.GHF -

C16. QTFY)
FERAZXZBPI (LRI, THELH. BAETF4):
(T) (WILX = '00" AND MMLB = 'OB')SUM(C16.CJJE +

C16. JYYJ + C16. YHS + C16.GHF + C16. QTFY) + (T) (WTLX



"05')SUM(C16.CJJE + C16.JYYJ + C16.YHS + C16.GHF +
C16.QTFY) +(T) (WTLX = '06')SUM(C16.CJJE + C16.JYYJ +
C16. YHS + C16.GHF + C16. QTFY)

T @R DT (K. T/R): (1)@ MLB =
"4B')SUM(C16.CJJE + C16.JYYJ + C16.YHS + C16.GHF +
C16. QTFY)

xR Z#EmIH: (T) (Z) (BDLB = '05') SUM(C05. FSJE) +
(T) (Z) SUM(C14. YQHL)

ERZEAI: (T) (Z) BDLB = '06") SUM(CO5. FSJE)

ZE (B A24): (T) (Z)SUM(C10. CHIE)

Zx (BAEAE%): (1)) (CHLX = '06" OR '07" OR
'08") SUM(C13. CHJE)

2. IEF R H I

BE: T—1 HiF%#% £ (C06.ZQSL) + T HE % & =
T HiEz %k & (C06. ZQSL)

R

i A fF B ¥ 4w Im . (T)(Z)BDLB = '03' OR
'06') SUM(CO7. BDSL)
i AE F B B A m . (T)(@) @BLB = '04" OR

'07"') SUM(CO7. BDSL)
ARG T (LREEN., BELN): (T) WILX =
'00' AND MMLB = 'OB')SUM(C16.CJSL) + (T) (WTLX



'01") SUM(C16. CISL)

FRZXZB I (EEZE., XHFLK. BETL):
(T) WTLX = '00' AND MMLB = '0S')SUM(C16.CJSL) +
(T) WTLX = '02')SuM(C16.CJSL) + (T) (WTLX =
'03") SUM(C16. CISL)

ExZE (L R%): (T) (Z) (BDLB = '08' OR '09' OR
"10" OR '12' OR '13"' OR '15')SUM(CO7.BDSL)

ExZBEAD (FERE): (T)(Z) (BDLB = '05" OR'11' OR
"14' OR "16')SUM(CO7. BDSL)

3. FEA A

BWE: T—1 @A af + T HFIHE ARG TmE a4
— A ELRLH) T THEAAHELF = T HREFT AR

Bk

(T-1) (Q) (C08. RZYE+C08. GF+C08. JYYJ+C08. RZLX+C08.
QTFY) +(T) (Z) (FSRQ=SJRQ) SUM(C09. KCJE+C09. RZLX) - (T) (Z
) SUM(C10. CHJE) + (FSRQ!=SJRQ) (T) C09. RZLX-(LJBZ='0" OR
LJBZ="2") (T-1)C09. RZLX=(T) (COS.
RZYE+C08. GF+C08. JYYJ+C08. RZLX+C08. QTFY)

4. BEF AR

BE: T — | HErfft + THHFE ARG G TRFS
N—BrEZAHE + BrlaiMzae) = THEAHE

R



(T -  D@(CIL.RQSL) + (D (Z) (FSRQ =
SJRQ) SUM(C12. KCSL) - (T) (Z)SUM(C13.CHSL) + (T) (Z)
(FSRQ = SJRQ)SUM(C17.BCSL) = (T) (C11.RQSL)

5. B A4 7R (KT £)

BE: T — | HEARELELH - T HEL L5 (T H
LRELLF—YHF A LEELLE) +T HFHEH =
T H &4 P24 2 5

#%: (T-1)(Q ( LIBZ='0' OR LJBZ='2") (C09. RZJE+
C09. WIXF+C09. YIWFXF) — (T) (Z) SUM(C10. CHJE) +(T) (Z) (FSR
Q=SJRQ) (C09. CHIJE+C09. YIYFXF)  +  (T) (FSRQ |=
SJRQ) C09. RZLX- (T-1) (LJBZ="0" OR LJBZ='2")C09. RZLX =
(T) (Q) (FSRQ != SJRQ) (C09.RZJE +C09. WIXF+C09. YIWFXF)

6. B 62 R

BME:T — | HEARELHE-T HELKE (T HE
FREAHEE—LHFALHELHEE) + T HREELHKE

THEARNZELHKE

Bk

((T-1) (@ (LJBZ = '0' OR LJBZ = '2")SUM(C12. RQSL)
- (T) (Z)SUM(C13. CHSL) +(T) (Z) (FSRQ=SJRQ) SUM(C12. CHSL)
+ (T) (@swmM(c17.cHsL) - (T - 1) (Q (C17.CHSL !=
C17.BCSL) SUM(C17. CHSL) = (T) (Q) (FSRQ =
SJRQ) (C12. RQSL)



7.T+1 HE —iEsfs 2 & (X C16 & WILX=" 04’
HE—IEF KGR HERKF) << T H B3 ZFKF K
Al 105 (B 106) BIAHMIEHFHIEAHES REIKHEZ
A,

8. BI13.RZLX = SUM((T)C09.RZLX-(T-1) (LJBZ!=" 1" )
C09. RZLX)

9. B13.RQFY = SUM ((T)C12. RQFY—(T-1) (LJBZ!=" 1" )
C12. RQFY)

10 . BI3.YQFX = SUM  ((T)C09.YQFX —(T-1)
(LJBZ!=" 17 )C09.YQFX) +  SUM((T) Cl2.YQFX —(T-1)
(LJBZ!=" 1" ) Cl2.YQFX)



